= AH O

N = 0 &8 AF S & Al A
20009 = =& 1 3 LEgH EHINMTEBRAZLIAIRA ~ ZBEATEZIA2ALIAIRA
SA BHDMCYIAZAIANRA
Hz: HODF Us EHI2AMCEI2Y 2F(BFES/HH)

CHel: B Y O Ol0IX WA (e
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
LINMNCESR2ALAIRA 1,754,473 1,616,240 138,233

= 98,938 0 98,938
== 1,655,535 1,616,240 39,295
HODI Y= HESNCEHSE 2 (#HBS/NH) 639, 127 497,787 141,340
=2 98,938 0 98,938
= 540,189 497,787 42,402
=22 2 O Ol0IXl MA 261,052 119,712 141,340
=2 98,938 0 98,938
< 162,114 119,712 42,402
CE - DEIEBB2ZAY 141,340 0 141,340
=2 98,938 0 98,938
< 42,402 0 42,402
101 ol 24| 133,240 0 133,240
= 93,268 0 93,268
< 39,972 0 39,972
10 JIZHHIZ22Hs2E4x 133,240 0 133,240
oJies 32,0002 x20H 170 108,800 0 108,800
= 76,160 0 76,160
== 32,640 0 32,640
ImE=E:] 3,000 x20H x 150 9,000 0 9,000
= 6,300 0 6,300
< 2,700 0 2,700

DLSH(&gE, sS4t HIY S)
250,000 20 5,000 0 5,000
=2 3,500 0 3,500
== 1,500 0 1,500
D4 e s 10,440 0 10,440
=2 7,308 0 7,308
[==4 3,132 0 3,132
201 Lt AH| 8,100 0 8,100
=2 5,670 0 5,670
< 2,430 0 2,430
01 AFE222|H] 8,100 0 8,100
O 22| 2LsHHSESPY 8,100 0 8,100
= 5,670 0 5,670
< 2,430 0 2,430
HESHAH(BIAM TS ZRABCIALRA)(JIEHIIEH 1,115,346 1,118,453 N3,107
ol 2| 853,838 856,945 A3,107
ol 2| 853,838 856,945 A3,107
101 Q1A H] 817,118 820,225 AN3,107
02 =< 90, 188 91,236 A 1,048
CIAIZEQI =G 33,864 34,912 A1,048
Ox1U=E 33 19,899,000 19,899 20,947 AN 1,048
07 G2 AH] 13,387 15,446 A2,059
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